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( Logic )
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The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : Ix10=10
FrafReame fofimmm Ser fm

(a) Truth or falsity is a property of
term/proposition/argument.
( Choose the correct answer )

TSl A1 SpTerel (2eR #i /64 /3fEq o |
(= Teach! AfR Sfeyjer )
(b) An argument has one premise/two

premises/no fixed number of premises.
( Choose the correct answer )
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(c)

(d)

(e)

7]
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(2)

b1 X GBI WA I AT/ TR I
YT /YT I5:] 1EAl T8 =2 e |

(o= T30t iR Sftiean )

Validity of an argument is concerned with
the form of an argument/content of an
argument/both form and content of the
argument.
( Choose the correct answer )
eq (e PRI TRPRT A/ R
TS/ e WP wF RwRE Temw s
HS |
( o= Tecn fR Tfrear )

State one point of difference between
deductive and inductive inference.

Rore &% WA e TR @b e
Ty T

Give an example of particular negative
proposition.

o1 Rerg e 51 B fi

The figure of a syllogism is determined by
the position of the ____ term.

( Fill in the blank )

— TR R eme Tw wwm freg
TR

(0 5% o5 71 )

{ Continued )

(g)

(h)

)

G)

. Answer briefly :

(3)

BAROCO is a valid syllogism/immediate
inference/distributed term.
( Choose the correct answer )

BAROCO b1 (34 +URI/SIWIM SR /3N
1 1

(o= Teao AR S )

State any one general rule of a categorical
syllogism.
a1 Fers R R @ 961 sivRa e
Sra F

What do the ideograms stand for?
qrereners o & ot 3e3 2

Under what condition, an equivalent
function becomes true?

B v b1 AMYLT T TS W ?

w5 T i -

(a)
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Define argument with example.

TraerTR YR T fied )
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(b)

(c)

(d)

(c)

(4)

Reduce the following sentences into
proper logical propositions and mark them
asAE 1,O:

G PRI TS 610 BT 9 T
A, E, I, O fors fofdes =1 :

(i) Al students are not
intelligent.

aifw Ran@ et 3 7w |
(ii) Virtuous alone are happy.

T ifife ez JR |

State any two rules of conversion.

T R e wor fRaw Soas w9 |

Write two utilities of the uses of symbols.
4O JIIR 1B Bergnirer s |

Define logical constants with examples.

TP SR WRSRR T f)

equally

3. Answer the following questions (any four) : 5x4=20
Rl erars et fan (R @ wIfRHY)

(a)
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Explain the relation between the validity
or invalidity of an argument and truth or
falsehood of its premises and conclusion.

T @ A wIwOR W SRRy I
FraTes Torel 31 PTereR 1o 2 ey 4

( Continued )

(b)

{c)

(d)

(e)
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(S)

Write a short note on square of opposition
of proposition.

51 R fewra o o1 vy GrRm ot o

Distinguish between figure and mood of
syllogism.
TR T W YR A <Nl ey w4

What is simple proposition according to
modern classification of proposition?
Define each of the different forms of simple
proposition with example. 1+4=5

IR YR e SR Re I I
@A? TR owe Rfew avRw W
PSSR A |

Symbolize the following propositions:  1x5=5
GG 71 IPTE OIPIAF TS FCHAN
(i) It is not that Hari is honest.
B G T AR R

(ii) Either Rakesh is intelligent or he is
honest.

= 3 Il T o€ R |

(iii) If you read attentively, then you will
succeed in the examination.
M PR WARRNI M6 CSER'CH *Rrwrs
T 20
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(6)

(iv) The weather is not good but Rita
goes for a walk.

T o = e ok FhRata am

(v) 1t is false that the field is muddy and
wet.

G281 A @ AR AR O R |

(f) What is categorical proposition? What are
the different types of categorical
proposition? Explain. 1+4=5
fRers I IR QRE? REerw v Rt
oRFTR & 1, e <t o

4. Answer the following questions : 10x4=40
FafiRe ameaRs e fm -
{a) Define syllogism with example. Explain its
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characteristics. 2+8=10

TiRaPR. WRE e fen i e ez
[

Or/13J1

What is immediate inference? Explain
obversion with rules as a kind of immediate

inference. 2+4+4=10
AN S FIF Q0 7 MY Wﬂ? Tt |
ot Tz afdeda ama =)

{ Continued )

e g

(b)

{c)

(d)
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(7)
What is symbolic logic? Discuss the
characteristics of symbolic logic. 4+6<=10
SO HREm IT QA? AR
SEREWIT CIFEPTIR ST <47 |

Or/ 1331
Discuss the relation between symbolic logic
and classical logic. 10
HOIT THREA AF A=[C RS
A o SCA 4T |

Define proposition according to modern
logic. Explain different types of compound
propositions with example. 2+8=10
e wRem SPiR W e
srare Rte #PRT AR PR
9

Or/ 7

What is truth-function? What are the basic
truth-functions? Explain each of them.

2+2+6=10

AT T IE @A e ToRereR [
&2 oAfthr FrerFe I 91

Construct truth table for any five of the

following  propositional ~forms  and
determine whether it is tautology,
contradictory or contingent : 2x5=10
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(8)

oore T I W [l R @
AR TG fer s TN O
Toore, e ¢ wRWE TRfE, fdf
91
(i) pD(pvq)
(i} (p-q)Dp
(iii) (p-q)-(pVvq)
(iv) (pvq)-(~p-~q)
(v) ~[p>(pvqll
(vi) p-(~pvq)
Or/ %3

What is indirect or shorter-truth table
method? Discuss the method of proving
validity or invalidity of argument by
shorter-truth table method. 10

L3P A B HeI-Slfeidl &S I Q@Ice 2 12:{
He)-OIferdl 2wl RS FEq (34l 1 Siage
IR RSBl JIAW T |
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